Math 1513 - College Algebra
Discussion Board Week 11 - Due 2017.11.05

Use properties of logarithms to write each expression as a single logarithmic expression.
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2log(x) — 3 log(x? 4 1) + log(2x — 1)

2log(z) — 2log(a? — 1) — log(v/2x — 1)

In(z) + 2 In(z? — 1) + In(v2z — 1)

In(z +1) +In(2? — 1) — £ In(v22 — 1)

4log(z + 1) + log(2x — 7) + % log(4x + 2) — log(v2x)

—2logg(z — 2) + § logs(a® — 1) — logs(v2x)

—6In(z) + 2 In(z? + 1) — In((2z — 1)?)

log(z + 1) + 2log(z® + 1) — 1 log(2x + 1)

log(2z — 1) + % log(2z 4 1) — log(v/2x — 1)
2In(z +1) — 2In(2? — 1) — In(v2z — 1)
In(z + 1)+ 3In(x? — 1) + 2In(v/2x — 1)
log((z + 1)*) + £ log(2z + 7) — & log(4z + 2)
—2logs(z + 2) — 1 logg(2? + 1) + 5 logs(v/2x)
—6In(z) — 2In(z? + 1) + 3 In((2z + 1)?)
3log(5z + 1) + 1 log(a® + z) — 3log(2x — 1)
—2log(z) + 2 log(z? + 1) + 2log(v/2z — 1)
In(z?) — 3 In(32?) + § In(y/7)
In(2® + 1) — 2 In(2? — 2) — 2 In(v2x)
4log(z?) + 4log(2z — 7) — % log(4z + 2) — log(v2x)
—2logs(2?) + 2 logs(2? + 6) — 3logs(5 — z)
4ln(z + 1) + ZIn(a® + 1) + 2In((2z + 1)?)
log(z? — 1) — 3 log(a? 4 1) + 2log(22% — 1)
3log(z — 1) + +log(2? — 1) 4 5log(3z + 2)
2In(z® — 1) — £ In(2® + 1) — 31n()

2In(vz +1)+3In(2® — 1) + 3 In(v2z + 1)



